COMMSCOPE

P040-0058 Revision B,
Mounting Kit, For Metro Cell Antennas

April 2023

MC-MNT-TOP-370 Mounting Kit

GENERAL INFORMATION

e Top of pole mounting option
Fits round members 6.5" to 8.5" (165 10 216 mm) pole

diameter.

ltem Description Qty Image
NS
1 IMc Top Mounting Plate ] %X@
2 | Pipe Clamp Top 3
3 | M12X140 Carriage Bolt 3 K
4 | M12 Flat Washer 3 \'
L
5 | M12 Hex Nut 18
6 | M24 X 75 Hex Head Bolf 1 €,
/ | M24 Flat Washer 3
~
8 | M24 Hex Nut .
? | M12X45 Carriage Bolt 6 %

www.commscope.com

© 2023 CommScope, Inc. All rights reserved.
Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information.
All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0058 B (04/23)

INstruction Sheet

PRE-INSTALLATION INSTRUCTIONS

e Examine antenna and kit fo ensure that all parts are
enclosed and that there is no physical damage.

e Verity that the frequency range shown on the label
on the boftfom of the antenna matches the frequency

range of the station equipment.

ltem Description Qty Image
10 | M12 Flat Washer 6
11 | M20 Flat Washer 3
12 | M12 Flat Washer 3
13 | MC Shroud Cover 2
14 | Pivot Pin /
15 | Lanyard 2 o>
16 | Cable fie 2 I

C € Cn Page 1 of 5



INstruction Sheet P040-0058

INSTALL PIPE CLAMP TOP HARDWARE

0 -
©
5 Q y
@
=R
; S
— 0
Q,:ﬁ%
{ O /j]
]
QL%> D N @ —

@)
Ignore item 5, 9, 10,12 if no holes | | | | EQZZ%E

on antenna bracket.

ATTACH ANTENNA TO MOUNT

www.commscope.com
© 2023 CommScope, Inc. All rights reserved. - UK
Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information. c € ‘

All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0058 B (04/23) - Page 2 of 5



INstruction Sheet 5040.0058

ATTENTION: Pre-tighten three M12
fasteners on pipe clamp brackets.

Position the pipe clamp brackets

equally around the pole. Three M12
W fasteners should have similar length
thread engagement when they are
tightened, or studs may interfere with

shroud cover.

O

30mm—40mm‘ ( Q © é@ A

Recommend
spacing between
pole top end and
pipe clamp
bracket surface.

O

PLACE ANTENNA ON POLE

ATTENTION: Orient the antenna unit so that
the antenna is directed as desired.

ATTENTION: Tighten all fasteners

©
>

: S | T; 2 O
Q: ,\ D © 7
= | | ﬁéu

/\/\/ REQUIRED TORQUE
MI12 | 58 N.m (43ft Ibs)

M24 | 100 N.m (74ft Ibs)

ORIENT ANTENNA AND TIGHTEN FASTENERS

www.commscope.com
© 2023 CommScope, Inc. All rights reserved.

Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information. UK

All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0058 B (04/23) C € C A Page3of5



INstruction Sheet 040-0055

) [
— D
T i
y — (3
|~
g St = e
0T LT
I i
o | 0
\\l\\%\: I
| -C

Loop the large looped end of lanyard (item 15) - Il
on bracket, then loop cable tie (item 16) on small
looped end of the lanyard (item 15), two places. DETAIL D

INSTALL LANYARDS

N

Install pivot pin(item 14) as shown.

ASSEMBLE SHROUD COVER

www.commscope.com
© 2023 CommScope, Inc. All rights reserved.

Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information. c € UK

All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0058 B (04/23) Cn Page 4 of 5



INstruction Sheet

P040-0058

DETAIL E

Position shroud cover ribs —With shroud cover open, attach
onto bracket leg as shown, cable tie to hole on shroud cover,
fo prevent interference. trim it if necessary, two places.

AVAVAVA

INSTALL SHROUD COVER

/\\X\\
/ \
“ — —/V‘h'E%/
i ®) (@) ) \ L/’
) @ \ /
®//\ . /’//
T I DETAIL F
F— ]
I '
s .
] [7 .
= Install pivot pins (item 14) as shown.

Twist the pivot to slight deformation
and snap it in the slof.

COMPLETE SHROUD INSTALLATION

SAFETY NOITICE

The installation, maintenance, or removal of an antenna
requires qualified, experienced personnel. CommScope
installation instructions are written for such installation
personnel. Antenna systems should be inspected once a
year by qualified personnel to verify proper installation,

maintenance, and condition of equipment.

CommScope disclaims any liability or responsibility for the

. . . . Do not install near power lines. Do not install on a wet or windy Wear shoes with rubber soles and
results of Improper or unsafe installation prOCTICGS. Power lines, telephone lines, day or when lightning or thunder heels. Wear protective clothing
and guy wires look the same. is in the area. Do not use metal including a long-sleeved shirt and
Assume any wire or line can ladder. rubber gloves.

It is recommended that fransmit power be turned off
when the field installation is performed. Follow all
applicable safety precautions as shown on this page.

electrocute you.

www.commscope.com

© 2023 CommScope, Inc. All rights reserved. UK
Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information. C €

All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0058 B (04/23) CFI Page 5 of 5



	Sheet1
	Sheet2
	Drawing View278
	Drawing View282
	Drawing View285
	Drawing View288
	Drawing View290
	Drawing View292
	Drawing View309
	Drawing View311

	Sheet3
	Drawing View312
	Drawing View313
	Drawing View315
	Drawing View321
	Drawing View322

	Sheet4
	Drawing View325
	Drawing View326

	Sheet5
	Drawing View207
	Drawing View327
	Drawing View328


